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ANNUAL 'SECONDARY EXAMINATION, 2022
‘ (TERM -1)
~ (MCQ Type )

TfoTe / MATHEMATICS
awg ;1 e 30 e | quils 40

Time : 1 Hr. 30 Min. Full Marks : 40

@M f¥N / GENERAL INSTRUCTIONS :

1. WEgHE W Tl T&aT OMR Answer Sheet T WX |

Carefully fill up the necessary particulars on the OMR Answer Sheet.
2. 379 YT [T FEE OMR I T H gl 71 8 T H{ |

Put your full signature on the OMR Answer Sheet in_{:thtle space provided.
3. 39 9 qRaw § e 40 Tg-fomediy wem §

There are 40 Multiple Choice Questions in- this Question Booklet.
4 it v v € | uE T Y otfmmar 1 siw S B

All questions are COITlpU].SOI'}’. Each question carries 1 mark.
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1. 120 9 AN OGS § ..
By 2x2x2x3x5 (2) 2x2x3x3x%x5 ‘
(3) 2x2x2x3x7 - (4) 2x3x5x7

The prime factorisation of 120 is
(1) 2x2x2x3x5 2) 2x2x3x3x5
3) 2x2x2x3x7 "L 2x3x5x7
2. 3NN PAETE 2 x 2 x 2 x 3 x 3 B UM E
(1 62 | 2 72
3 92 (4) 122
The value of prime factorisation 2 x 2 x 2 x 3 x 3is
(1) 62 2) 72
(3) 92 (4) 122
3. 63K 20 FHCF?
2 (2 6
(3) 20 4) 60
The HCF of 6 and 20 is
(2 2) 6
o @F 20 (4) 60
4, THE PR m F feu, 9w vy dem 9w b

___@__.m 1 ' (4)  2m+1
[J-(10)7036 | MTH
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j i orm
For some integer m, every odd integer 18 of the f

() m 2 2m
3 m+1 @ el
S. y:p(x}wmﬁmmﬁlaguap(x)awﬁﬁﬁm%
Ay-STH

The graph of y=p(x) is given. The number of zeroes of the
polynomial p{(x) is

F'y y-axis

vy
aeo 2) 1
(3) 2 @ 3
| J-(10)7036 | MTH
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o, TR XX -3HLIFHE
(1) 3,43 2)  -43,-V2
< ~J3,43 (4) U 9 R T
The zero of the polynomial x* -3 is
(1) 43,43 2)  -42.-43
@ -V3,43 (4} None of these
7. Uw fgue TgUE T YA AT @ UAE - 3 AR 2 E,§
(1 x% +3x+2 2)  x?-3x-2
(3) x*+3x-2 4y x?-3x+2

A quadratic polynomial, whose sum of zeroes and product of zeroes ame

~ 3 and 2 respectively, is

(1)  x?+3x+2 2y  x~-3x-2
3)  x?+3x-2 (4)  x7-3x+2
8 P14 il =i ;‘fi R g a|x+b1y4(r] o #R a_2x+b2y+c?=0 6l
a, bz Cy
() e 2y & ARkEE A
(3)  SwffoR ¥ 4 o9 & @ (4  <dIEAE

[ J-{10)7036 | MTH 5 of 20
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¢ .0 then the system of equations a,x+by+c, =0 ang

' LG
“ “_;b_ F—
d, By G

y

a,x+b,y+c,=0 has

(1)  no solution (2) unique solution

(3)  infinitely many scs‘lutions (4) two solutions
ff@s Qi 1 2x— y = 5 R 3x+ 2y =4 # ¥

) x=2,y=-1 . (2) x=2,y=-2
3) x=3,y=0 - (4) ;c=—3,y=—1

The solution of the pair of linear equations 2x -y =5 and 3x + 2y =4 is

(3) x=3,y=0 (4 x=-3,y=-1
(1) H™ (2) €T

(3)  Hw @) T Y e TE
A pair of linear equations which has solution is called

(1)  consistent (2}  inconsistent

(3)  coincident (4)  none of these

[J-(10)7036 | MTH g
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11, TET T 3x+2y=5, 2x-3y=7 & e gl g 7

1y © @ q
@ @ (4)
How many solution(s) does the pair of equations 3x+2y=5, 2x-3y=7
have ?
(1) One (2) Two
(3)  Three (4)  Infinity
12. O FHEE 2x+y-6=0, 2x-ky-2=0 % JGdE & &4 & fAC &k &
o ¥
(-1 2) 1
3 -2 4) 2

The value of k for which the system of equations 2x+y-6=0,
2x - ky - 2=0 has unique solution is

(-1 2 1
3 -2 (4) 2

12 afz YiaE GEET 1 FE T S &, 79 766 e & @ il

(1) i I

(3)  HEIH | 4) T @ & R

If a pair of linear equations is inconsistent, then the lines of its graph
will be

(1) intersecting (2) coincidenF

(3) parallel (4) none of these

(11017036 | 20
| J-(10)7036 | MTH 7 of
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14 T AW o fraa qefie @i e 7
U (x-2P+1=(2x-3) @) xbe+1)+8=(x+2){x-2
3) x(2x+3)=x%+1 oW (xe2P=x -4
Which of the following is not a quadratic equation ?
(1) (x-22+1=(2x-3) 2) x(x+1)+8=(x+2)(x-2)
(3)  x(2x+3) = x2+1 4) (x+2)=x"-4

15, T ST 352 - 5x+2 = 0 F bR &
B 1 (2 -1
@) 2 4 -2
The discriminant of quadratic equation 3x2 -5x+2=0 is
(1) 1 2 =1
3) 2 4 -2

16.  ax?+bx+c =0 & T W AATF g1 g0 7fe
(1)  b*-4ac>0 2) b2 - 4ac<0
3) b’ -4ac 0 4) T A a
ax” +bx+c = 0 will have (wo real and equal roots. if
(1) b dac-0 (2)  b? - 4ac<q
@) b7 -dac -0 (4} none of these

[J-{10)7036 | MTH
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2 o T 2x2 —5x+3 = 0 F TN B WHA @
(1) il T& §9H (2) ardfa® T FEIH
) @ @) F R P
The nature of the roots of the quadratic equation 2x* - 5x+3 = 0 will be

(1) real and equal (2) real and unequal
(3) not real (4) none of these

18. fgeme @HidTor 2x2 +kx+ 3= 0 % o OF €, Al k & | &
(1] 3vJ6 2) -3J6
3 zJQJE (4) T ¥ FE T

I the roots of quadratic equation 2x2 +kx+3= 0 are the same, then the

value of k will be

(1) 3J6 2) -3J6
(3) +2J6 (4)  none of these
19. A FEE WHE x? - kx-10=0 & el - 2 &1, & k & 9E Em
(-3 @ 3
3) -2

(1) 2

[F10y7036 | M
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_10 = O is - 2, then the value

If a root of the quadratic equation x2 - kx
of k will be
(1) -3 2) 3
3 -2 4) 2
20. fger oHiE 6x2 -~ x-2=0 F A&
2 1 -
B 373 @ -3 3
5 L2 " 1 2
( J 53 5 2 , 3

The roots of the quadratic equation 6x° -x-2=0 are

2 1
EE @ -5
21. A.P.3,3,3,3,.. & 9d3ARE .
(1) 3 2 1
) 0 4y 6

The common difference of the AP, 3,3,3 13 ;
’ ’ ] ;. 1S

s @ 1
&0 4 6
J-(10)7036 | Mry
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5y T AP, UUH 97 10 # G X 10 €, A 3HU UG B

(1) 10 (2 20

3) 30 (4) 40
The first term of an A.P. is 10 and common difference is 10, then the

second term will be

(1) 10 (2) 20

3 30 (4) 40
23. THAPH A a=7,d=3 n=87 q H AAT

(1) 18 (2) 20

L) 28 (4) 30

Inan AP.ifa=7,d=3and n =8 then a, is

(1) 18 (2) 20

(3) 28 (4) 30
24, A F TN Ui QOIS HT AR

75 (2) 65

(3) S5 (4) 45

The sum of first five multiples of 3 is

(1) 75 2) 65

(3) 55 4) 45

~ .
Lﬂ1°)7°35 MTH 11 of 20
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(1) wETEH 2 EAE
(3) wETEH T wEd g (4) i 1

All the circles are
(1)  congruent (2)  similar
(3)  both congruent and similar  (4) none of these

6. T H DE || BCE, @ EC H1 A €

A
1 cm 1'5cm
D E
2 cm
B C
M) 3cm (2) 2cm
(3} 1l cm (4) 1'5S cm

In the given figure, DE | | BC, then the value of EC is

A
1 Cm/ 1'5 cm
D E
2 cm /
;’/ \
B* C
(%) Lem (4) 1-5 cm
[J-(10)7036 | MTH
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27. R F AABC ~, AQRP ¥, TETA FHE ............ a1
A
2 3
B 25 C
(1) A-A-A 2) S=8-S
(3 S-A-S 4) A-A
In the given figure AABC ~» A@QRP, by similarity criterion
A P
/ /\ /\
B~ ;s c 0 4 R
(1)  A-A-A (2) S-S-8
3) S5-4-8 : (4) A-A
28. 3T AABC SR ADEF® £A=/D, sB=yF 4sC-zE ¥ @t
(1) AABC ~u ADEF (2) ABAC ~u ADEF
M) AABC ~o ADFE (4)  AABC ~, AEDF
|J-(10)7036 MTH
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-/F, /C=/E, then
If in two triangles ABC and DEF, 4A=/D, £LB=4

ADEF
(1] AABC rv ADEF (2) ABACA

(3)  AABC ru ADFE (4)  AABC ~o AEDF
29. ﬁwmﬁﬂwﬁmgaﬁa@mﬁﬁi%wﬁﬁﬁ%wHﬁmwm%
(1) 2:3 | 2) 4:9

{3) 81:16 4 16:81

Sides of two similar triangles are in the tatio 4 : 9. Areas of these

triangles are in the ratio
(1) 2:3 2 4:9
(3) 81:16 4 16 : 81

30. U @S e § F = 13 cm, T PN = 12 om, At 99 I H o EE &

(1) 6 cm (}} 5 cm

(3) 10cm 4 8cm

In a right-angled triangle the hypotenuse = 13 cm, one side = 12 ¢m, thcn

the length of the remaining side ig

(1) 6 cm 2) S em
(3) 10 cm (@) 8 om
|J-(10)7036 | | MTH
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31 AABC # AB=6V3 cm, AC= 12 cm, BC= 6 cm, @ ZB ST 2

(1) 120° () 90°

(3} 60° (4) 45°

In AABC, AB=6+/3 c¢cm, AC= 12 cm, BC = 6 cm, then £B is equal to

(1) 120° (2) 90°

@) 60° | @ 450 -
32, g9 F 99 qGI A & §

(1) =™ (2) gl

(3} =W @4 TH® ﬂ'é EL

Largest chord of a circle is

(1) arc ' (2) chord

(3} diameter - (4) none of these

33. fag p ¥ fdl 9o Sl WX F EE 24 om § 3R &% 9 P# G 25 cm B

() 7cm | (20 12cm
(3) 15cm (4) 24-5cm

(33107036 | MTH | 15 of 20
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: " 4 ¢ and the
nt to a circle 18 24 cm
From & poiI |
| ircle 18
| The ius of the cirC
distance of Pirom the centre 18 25 cm. he rad

() 7 cm (2) 12 cm

(3) 15 cm (4) 24:5 cm

24 T;rﬁa%WmemHﬁ%)
2 @

(4) HofiEd w1 8 A

[low many tangents can a circle have ?

(1) one (2) Two
(3)  Threc (4) Infinitely maary
A s @ Op - S cm S PA =3 cm &, @ oA # TER ¥
/ TN
\
f/ \
. ()
ILx,_ T~ )
\ "h‘“‘“x
~— 4 ~ ;
A
(1) 3cm {2} 4cm
(3] 5 cm (4) 8 cm

J-(10)7036 MTH 16 of 20
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In the given figure, OP = 5 cm and PA = 3 cm, then length of OA is

(1) 3 cm (2) 4 cm
(8) Scm (4) 8cm
36.  FHr F0 9 3 e o FewEve F 8IF € ~
2 , nrle
(1) nree 'L‘g] 3_6..&;
2nr 0 " 6nrod
U N 3600

The area of the sector with central angle 8 and radius ris

2
2 nreo
0 2
(1) nr (2) T
2nr 0 oo
[3] 3600 l l?ib()

37 6 cm 9 A UF I & TF @S F1 56e 591 6, FGET S0 60° £ 7
(1) 116/7 cm” (2)  128/7 cm?

(3) 13277 cm (4) 133/7 cm”?

[3-(10)7036 | MTH 17 of 20
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: i crn. whose ar
w1t will be the area of the sector of a circle of radius 6
o 150 J
7 ¢ 2
116/7 cm” (2) 128/7 cm
7 ¢ 2
y o 132/7 em’ 4) 133/7cm
- wh . E S
R gy T AT T g % A & s @ g 7 Fw W60
r b )
il 21 ¢m (2) 18 cm
“(4) 25 cm

J_.‘w 22 om

What will be
subtends an angle of 607 at the centre ?

the length of the afe of a circle of radius 21 em, which

(1] Jlem e (2) 15 an
(.3 22 ¢m (4) 25 cm

v afr 7 en, fAEn AW R % O gAEE T AAEE 14 cm? ® A 2 grig e &

R AT

(1 140 cm (2) 150 Cm:?
(1] |25 em” {(4) 200 cm -~

'f the area of minor segment of a circle of radius 7 «m bev14 em? then

‘he ares of major segment will be
(1) 140 cm (2) 150 em ¢
(3) 125 ¢m (4) 200 cm “

J-(10)7036 MTH
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40.

(1) 40° (2 45%
(3) 50° (4) 55°

An umbrella has 8 ribs which are equally spaced. Assuming umbrella to

be a flat circle, the angle between its two consecutive ribs will be
(1) 40° (2) 45°

(3) 50° (4  S55°

i
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